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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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G3-4
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ET (ml/hr/plant)

G3-4_0, Day=35 (2025-06-16)
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G3-4

BFE) | GEBATK () | Elis (ERH/#) | EREE (B/R) | X5 R

08:20 169 100.0 2.16 FA| {Ri%@08:20 Bz (RAMEEEE)
09:20 169 100.0 2.16 FE| 1RRi%@09:20 B (FRFAERESE)
2i3t| 338.0 (2&%) 200. 0 EWHKEC: 3000, PH: 6.4

RMERFERDHB9IEE, i B KPHY BI46.4,10.5,6.5, {REKK
BERSEBIPH (10.5) 5i&EPH (6.43) RERK, 1HRE
FEREPH (10.5) 5FMPH (6.5 REKK, FHRE
FRBVE NS K &PH 6. 42

BBV S Kt iKEC 2643.0

ERGERPH (10.4) 5igEE (6.4) RERKK, HERE.
ERGEBPH (10.4) S5EREW (6.4) RERK, HRE.



G3-4_0, Day=34 (2025-06-15)
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LRGERPH (10.5) S5iREIE (6.4) RERK, BERE,
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G3-4

BFE) | GEBATIK () | s (ERH/#F) | EBREE (B/R) | X5 R

06:05 254 100.0 2.16 [2=| {RiBe06:05 Bz (FAERE)
07:05 254 100.0 2.16 [ =| {RiBe07:05 Bzl (FAFEHE)
08:05 254 100.0 2.16 [ =| {RiBe08:05 Bz (KRAFEHE)
09:05 254 100.0 2.16 |Z=| {Ri%e09:05 Bz (REAEZEHE)
10:05 254 100.0 2.16 FE| 1RRi%@10:05 B (RAERSE)
12:55 254 100.0 2.16 FA| {Ri%e@12:55 Bzl (GRAKEEE)
14:20 254 100.0 2.16 FA| 1BRi%@14:20 B3h (RAHERE)
=2it[1778.0 (1% 700.0 3EGHKEC: 3000, PH: 6.3

large discrepency for begining water status (332:144.0), set to 332 ml.
REXBEREHLATIRE, it Ri#RPHS 46.5,10.0,6.5, BEKK
REXEBIPH (9.98) 5i&%EPH (6.5) REIKK, BRE
REFRGEIPH (9.98) 5FiPH (6.5) REKK, BHRE

FREE NS KHIBPH 6. 33

REZ NS RIFREC 2250.0
LRGEBPH (10.6) 5iREE (6.3) RERK, HEE.
ERGEBPH (10.6) SHEEEERIY (6.3) MERK, HHRE.
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G3-4

BfiE) | GEBATIC (R) | ERE (EH /&) | ERERE (B/R) | XS ERE

05:50 246 100.0 2.16 FA| {Ri%@05:50 Bzl (RA{EEE)
06:50 246 100.0 2.16 FA| {Ri%@06:50 Bz (kAMEEE)
07:50 246 100.0 2.16 FA| 1BRi&@07:50 B3h (KAEREEE)
10:20 246 100.0 2.16 (Z=| {Ri%@10:20 B3 (RAEHSE)
13:55 246 100. 0 2.16 FH| {Ri%e13:55 BHzh (RAERESE)
15:55 246 100.0 2.16 (Z=| {Ri%e15:55 Bz (GRAEHSE)
Bt 1476.0 (6%) 600. 0 3ZHKEC: 3000, PH: 6.4

RGBT R AR EZ Y (250 vs 167.0))

PRI\ L BRIERE150. 0 ml.

large discrepency for begining water status (247:14.0), set to 247 ml
REXFEABHLATIRE, it Ri&PHS 31 46.5,10.3,6.5, REK K
REXFEBIPH (10.3) 5i&%EPH (6.5) REKK, BRE
REXEMIPH (10.3) 5FiPH (6.5 RERKK, BHRE

FRAVE NS KIFBPH 6. 42
FRAE NS KIFHIREC 2250

.0

LORGEBIEC (2411.0) 5H#EAE (3000) RERK, BHRE.
EREBPH (9.7) 5&EE (6.5 RERK, HEE.
ERGERIPH (9.7) S5HEAVEW (6.4) RERK, FRE.
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